Best model for HELP J143658.004+354313.630 at z = 1.027 x2=13.49
OPTx2=16.04 IRy?=7.79 threshold (OPT IR)=16.22 [um]

102 ] : Stellar attenuated
3 = - Stellar unattenuated
—— Dust emission
. —— AGN emission
]_O:L E 1 = Model spectrum
E . ® Model fluxes
] [ Observed fluxes
— 10°5
> E 0
€ ] " .
g .
= 1071 N -
X :'-‘rll"‘.ﬁ"""‘rw“‘“' 0 e
3 : :
o ]
1072 5
1073 3
504 4
(= 1 ]
= ] ==f=(Obs-Mod)/Obs
3 ]
S
n
] o e e e A e A e
o ]
) ]
2 1
S ]
o -1 . CIGALE
]
[a'd

10° 10! 102 103 104 10 A
Observed wavelength [um]



